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1. MATH 101- MT#1, PROBLEM #1-SOLN

Let y = f(z) = —22% + 12z — 16.
(1) What are the z- and y-intercepts, if any?
SOLUTION. y-intercept =-16.
r-intercepts could be found by any of 2 methods.
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Method 1. Quadratic formula: = = T =
2,4,
Method 2. Factor: y = —2(z — 2)(x — 4).
Comment: many lost the sign from the —2 coeflicient of z*,
(2) Does the graph of y = f(x) have a local minimum or local max-
imum (turning point)? If so, what are the x and y coordinates
of the local minimum (or maximum)?
SOLUTION, Three different methods could be used here.
Method 1: complete the square: y = —2((z — 3P —948)=
—92(x —3)2+2. Again, many students had trouble with the —2.
Method 2: differentiate and solve for y' = 0: ¢’ = —4z + 120,
g0 @ =3.
Method 3: use properties of quadratics: vertex is at © =
-.L—‘rf = 3. Now compute y = 2.
Both coordinates of the vertex must be given.
(3) What is the range of f(x)7?
SOLUTION. (—oce, 2l. Many students wrote [2, —oc).
(4) Sketch the graph of y = =2r* + 12z — 16 for 0 < & < 5.
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(5) Does this function have an inverse? If it does, give a restricted
domain where the function has an inverse.
SOLUTION. No inverse because it the function is not one-
fo-0ne,
The function has an inverse on (—oo, 3] and on [3, 0o).
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2. Answer the following.

a) (3 points) Rewrite %: log,,; 25 in an equivalent exponential form.

28

_log(x+2)

g 3
Which transformations (shifts,reflection,expansion and contraction) of y = logx
in what order would lead to this? arslopang'Nong
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b) (6 points) What is the domain of the function defined by y -5 7
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Find the numerical value of x in parts ¢) through e)
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d) (3 points) x=1log,(1/2)
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e) (5 points) Inx+In(x—2)=2In2+1In6
f :
~ ~ e 2 i I g £y F -.I
IQ/. I | -_._'_"'z'_'*-.'!_:lj - :_ﬁ =i = :1;-. Il-,':l —_ (lli]-\ |.':"_|: ; 'IG, .J_I
— o | ™ — LD ,-"
=5 e S R
— e ‘— __, v — L 4= O .
< f ) [ ™y K= (:; or ?f"h‘::-‘:r’
= (x=6)(x+ )= O =) ‘\EL
ol x?‘\:) L Q,r-\ o




MATH 10| AT &4

'E';' . QJ {‘;&_,L'\Lm.n =
= f.:‘n'}{"_lll'-l-j = -—{iﬁ . (olkgr 5.':.&'.\_5 J,r)_'m_-._},;,l'_l-,

(2) C\::‘:.{;’EE,\ e {TTly § =

) evcsec(-1) =& =3 sec(0)=-2 =3 St

=3
=z
=
i
=

b = 2—T+Eﬂ

) cg:(or\c}m[ﬁﬂm ) ‘ong = \n
&
v b= 3 48T . Doroun :{ Gr'ﬂjfc’“&\’f'i'_fmr”i i

=y B= ﬁ-lllrl =4 (ﬁb{nh] = !If"l_ .

(@) A len ¢y = lefoa- L a0 ) L 1]
= I = 3.! :

L 7 G Alyx)

o H
L ) Snly = r?.'i:-l.n,x Cay N

!2-5-“\‘5‘- Com ¥ = Ak Baaly)
cotxy 7> BsmGflenx-L V.o

=2p Sar=D ov ":ﬂ:"f:i-ifr"l_

ent =D =p ¥= 0,1 ir
o ¥

Loz Xz '|I|’L ~p X qfr'z,la'lh
coxsth =p  ys1h 8T



—3x" +bx+c

4- ) The graph of f(x) = ————— is given below.
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a) (3  points) Write the x and y- mtemp_ts_nmx using the graph.
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¢) (2 points) Write the equation of the horizontal asymptote. Xx+E (1% _Ei 3
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d) (4 points) Write the equations of the vertical asymptotes.
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e) (9 p{}mts) Find the unknowns b, ¢ and d using the information gwf:n on the gr&ph./——]
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5. You sell your old car for a 24-month note for 10,000 YTL at 10% simple interest.

a) (3 pts) How much interest would you receive after the 2 year period?

Thterest = Pt = 40,000 x0.) ¢ 2 - 200aYTL

b) (3 pts) How much would you receive in total after 2 years?

FV=P(J+rt) = P+ Inferad = 12,00077C

c) (7 pts) You need the money sooner than the maturation date of the note and sell the
note to a friend for 11,000 YTL after a year. What annual interest rate will your
friend receive from the investment?

£ar o/ q%‘end : P=1,0Q0 /2 000 =44, 33 (J’+P)
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d) (5 pts) Was your friend wise to buy the note at this price? Give your reasoning.
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